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Geometric Progressions Ex 20.6 Q1
6 Geometric means between 27 and %
Let Gy, G, Gy, Gy, 55,3, be 6 geometricmeans between =27 and b = é

Then, 27,6, 5., G;, G, Gﬁ.GS,% is 3 G.P, with commoaon ratio r given by
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Geometric Progression Ex 20.6 Q 2
5 Geametric means between 16 and %
Let &, Gz, G5, Gy, g, be five geometric means between 16 and %

lﬁ.G,,GE,Ga.G.,Gﬁ,% is a G.P, with @ = 16,6 = =,

B
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Henca, 8,4,2,1,% are five geometric means between 16 and %.
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5 Geometric means between E and E;—l
. 32 81
Let &y, Gz, G5,G4, G5, be five geometric means between 5 and e
32 g1 , a2 21
Then, —=,G,Gs Gy, G, Ge.— 15 aG.Powitha="2h=—"Z.
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Hencea, ?,EI, 12,18,27 are five geom etric means betweaen 5 and —
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(ij 2 and B
Geometric means between & and b = G0
Here, a=2,b=18

Geometricmeans = 2 x8 = J16 = 4

(i} @ and ab®
Using (i)
a= a3b, b = ab?

Geometric means = yab xab? = -Ja'h? = a%3
[iii) -8 and -2
Using (i)

g==-0,b=-2

Geometric means = «..’—Ei w—2 = Jiﬁ =4,-4
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& i5 geom etric means betwean 2 and %

Then, a=1ﬁx1
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L et the first term of a GP is a2 and commeon ratio of the series is ».

The ( n+2)th term is ar’™.

The GM of a and ar™ will be:

1
G = ,I'a_a?,nﬂ =|'a:r.r!+1:|j
Now the 7 GM in between g and o™ are:
m7m1=---=ar!
Therefore the product of n GM will be:

aTKﬂT:X"'XG?‘n :a-!rl-l-l---m

Hence it is proved.
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Given,
AM=25
G.M= 20
Mow, A.M = %= 25
and, G.M=.3h=20
a+b="50ab=400

(3-b)=oJla+5)" - 43b

= J(50)° - 1600
= -JEEDU— 1600
=+30
&-H =130
&+hH =50
23 =80
g =4



Also, -2b=-20
b =10

The numbers are 40,10,
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a+hb

A.M. between two numbers 3 and & (53 b) is

Also, geometric mean between 2 numbers is ysb
Giver,
AM=2G.M

c'.'+.b=2 o5

2

a+b=afsh

a+.b_2

oJah 1

F+b+2yab _2+1_3 [By componenda and digidendo]

a+b-2a0 2-1 1
(o) ()
(- )
G
B

By componendo and dividendo, we get
(o+ b} + (= <4B) _ /a+1
(v B) (-] B
NERES
b -1

a {\'@"'1]2 . 3+1+283
b {Jg_l]? I+1-2+3

_ 4+2+3
4-243
a2 2+-83
b o-f3

Thusja:b-{E +q5!:{2-4§}.
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Let A=A between 5 and b
G.M=G; and &; betwean 2 and b
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&,5 G, b is G.P. with common ratio r = [—]
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